Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code:C300005 Date: 30-05-2015
Subject Name: Basic Physics (Group-I1)
Time:10:30 am to 12 pm Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y#l al (Ascl.
Watt is a unit of
1. | A | Work B. | Power
C. | Energy D. | Momentum
dle A ----- ol AsH B,
LA | s B. | e
C. |Gt D. 1 Qotat
1A= cm.
2. |A |10° B. |10°
C. [10™ D. |10
1A= Al
2_ A 10-8 B 10-6
C. 10-10 D 10-9
The significant numbers of the digit 1.054 is ------.
3. |A |2 B. |3
C. |1 D. |4
1.054 Aval oll ALLs s ----- 8.
3 |A | B. |3
C. 1 D. 4
S. . unit of current is ----- :
4. | A | Mol B. | Coulomb
C. | Ampere D. | Ohm
Yal(goll AN, WU, ASH ----- 8.
¥. |A | Aa B. | sclnt
C. | AMar D. 106
Pitch of the micrometer screw is 0.5mm. There are 50 divisions on its circular scale.
5 The least count of the micrometer screw is -------
A ] 0.1mm B. |0.01lmm
C. | 0.1cm D. |0.01cm
HSsHleR gall AU 0.5l B. Aetl adousk ¥t UR 50 (Aewol ®.
u.
wgsslHleRell Ay My Al ------ .
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Aol

B.

0.01:{lHl

C. ol

D.

0.01H1

Internal diameter of the hollow cylinder

can be measured accurately by------- :

6. | A. | Vernier callipers B. | Measuring tape
C. Meter rule D. | Micrometer screw
Wl AnUsRall Vgl Al ----- ad AsA il asia 8.
5. |A | allar d@Qud B. | Doz 2y
C. afler udl D. | wegsallle: 25
Precision depends on -------
7. | A | light B. | Pressure
C. | Care taken by person D. | Least count of instrument
@QAgat ALHL-----UR WUURA B,
9. | A | usLal B. | o
C. | calsoid sl D. | attuotoll Ay 1 2
If the zero of the vernier scale remains right side of main scale , then the error is
8 called-----.
" | A. | Negative error B. | Positive error
C. | Zero error D. | Constant error
ol cllelaR Wetoll Yot Yud Wctall gooll ¥HR( ol -¥A slal Al Al
ARA----- 58 &
C.
aESEE B ot 4R
C |y 3R D. T yua 3R
In g=4n°l/T? formula if the percentage error in 1=2% and in T=3% then the percentage
9 error in g=------- :
A [ 1% B. |2%
C. | 8% D. | 9%
g=4n? T2 Y2AHL Yldad (2 MosN 1=29% WA T=3% &l goll YldadyR=---
c. |A 1% B. |24
C. 8% D 9%
From the following four the fundamental physical quantity is ----------
10. | A. | Force B. | Volume
C. | Energy D. | Time
o(lAetl AR Uil Yaed ellds ABR----- B.
10. ! B. | s¢
Gost UHA
The unit of resistivity is ------
11. | A. | Mho.meter B. | Ohm.meter
C. | Ohm D. | Mho
WARAUSAL ol AsH-------- 8.
. [A | lle? Alal.H{le?
C. | el D- 118
12 The unit of charge is =-------- .
" | A. | Coulomb | B. | Ampere
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C. | Ohm | D. | Volt
Qg euRell AsH------ R}
Q. |[A | sdu A0NAR
C. s D. | dlee
Electric field lines-----
A. | starts from any kind of charge. B. | starts from negative charge and ends at
13. positive charge.
C. | starts from positive charge and D. | none of these three.
ends at negative charge.
Qg ct@toll JuA------
A asuel (Qgd etk WAl 23 | B | e [Qgdewrddl 23 us tot
3. a B. @Qgdeur uR Y3l aa 8.
C. | ot @Qycewrell 23 u8S »aL | D | 2 o wiell As gl o3,
@Qgdeur uR Y3l aa 8.
There are 30 electrons on one ball. The total charge on that ball will be------ :
14. | A |-4.8x10™C B. |-1.6x10%™C
C. |-48x10”°C D. [-1.6x10®C
As dlcd UR 30 SASSeU RJAL . Aol UR A (At @R------- 8.
. A [-48x10™°C B. |[-1.6x10™°C
C. |-48x10”°C D. [-1.6x10®C
Ohm is the unit of -------
15. | A. | Current B. | Charge
C. | Electric field D. | Resistance
6L A-------- oll AsH B
. | A [Qyd Yy Qg ewR
C. | Qg A D. | acRu
According to Ohm’s law------
16. |A. [ VaR B. [IaV
C. |TaR D. |VaE
WL oll A YHIQ------
1. A [VaR B. [IaV
C. |TaR D. |VaE
The equation of current is ---
17. |A. |qlt B. | gt
C. [qt D. |2qt
Qg yatse] uHls0L------ 8.
W. [A [git B. [q’)t
C. [qt D. |2qt
Sl unit of electric field is -----
18. |A. | C/m B. | A/Im
C. |Cim’ D. [N/C
(At Aotoll WAL, ASH------
1. A [C/m B. |[A/m
C. |[Cim’ D. [N/C
19 The relation between electric field and electro static potential difference can be shown

by the formula------- .
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E=VI/r

A. | E=VIr? B.
C. | E=Vvr D.

E=Vr?

clog &2 wal clog RA[AHL A Aol e2lad Yot-----8.

€. [A [E=VIF? B. [E=VIr
C. | E=Vr D. | E=Vvr
If the surface plane is parallel to the electric field lines then electric flux coming out of
20 the surface is------- .
" | A. | zero B. | maximum
C. | minimum D. | none of these three
ol AHAA AULEL los Aotoll utllal AHIAR Sl Al Al olslR wleld,
Qg setet-------- 8l
R0.
A 9et B. | st
C. | aya D. | 240 2L wigll s ua «13.
The temperature at which the resistance of the conductor becomes zero is called-------- :
21. | A. | Melting point B. | Boiling point
C. | Critical temperature D. | Curie temperature
aAles oll WY Yok URA A AUHIoAR------ 5 O,
4. | A | aletst (elg B. | Gesctot (0lg
C. 1 si@Q diuntet D. | R cltuntet
The formula of the kirchoff’s second law is ---------
22. |A. | ZE=ZIR’ B. | XE=X(I/R)
C. |ZE=ZIR D. [ZE=X(FR)
(3ot ollost (AauMe] Yr----- 8.
2. [A [ZE=ZIR? B. [ZTE=X(I/R)
C. |ZE=ZIR D. |ZTE=X(FR)
1Q, 2Q and 6 resistances are connected in series. Equivalent resistance of this
23 connection will be ----
1A [8Q B. |19Q
C. |12Q D. |5Q
109, 2Q ol 6Q WAAU ARHL A3l B. L ARl UHACRL WAAY-----
3. TA [8Q B. [9Q
C. |12Q D. |5Q
1Kwh=------------ J
24. | A. |36x10°J B. |36x10°J
C. [36x10°) D. |36x10°J
1Kwh=------------ J
¥. | A. | 36x10°J B. |36x10°J
C. [36x10°) D. |36x10°J
In 1 coulomb charge there are ------- electrons.
25. | A. |6.24x10" B. |6.24x10"
C. | 6.24x10% D. |6.24x10"
1 5col (At AURM{------- SAso SlA O,
*U. A 6.24x10% B. [6.24x10"
C. |6.24x10" D. |6.24x10"
IMA=-------- A
26. | A. | 10°A B. | 10°A
C. | 10°A D. | 10°A
sc | IMA=-------- A
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A. | 10°A

B.

10°A

C. |10°A

D.

10°A

The electrostatic force between two steady charges can be find out by the--------

27. | A. | Coulomb’s law B. | Joule’s law
C. | Kirchoff’s law D. | Ohm’s law
A (Agd U A Alg RAAQg[AA Ho------- yHd Andl asta 8.
9. | A | scototl @an B. | orctotl @ant
C. | BAlgett Qan D. | alatetl Qaant
The voltage between the two ends of one conductor is 5V and current flowing
28 through it is 5mA.The resistance of the conductor is-----
A ] 100Q B. 1K Q
C. |10Q D. | 100K Q
cAlgsoll A BSL A oll A% 5V & ol AHil UAR A Yale 5 mA 8. dl
¢, | Aesall AAJAY------- 0.
A. | 100Q B. 1K Q
C. 110Q D. | 100K Q
The SI unit of magnetic field intensity is------
29. | A. | Newton /volt B. | Newton/coulomb
C. | Newton/ampere. meter D. | Newton/meter
Jou(sa Astoll dlatcloll Asu------ R}
Re. oot/ e 2ot/ gl
ofeet /AR, Hl2? D. | jeat/ 122
The unit of magnetic flux is --------
30. | A. | Weber/m’ B. | Tesla
C. | Gauss D. | Weber
Joldau seiatoll Asu------B.
30. | A | AR/ B. | 2l
C. |l D. | Quz
From the followings the diamagnetic substance is -------
31. | A. | Alnico B. | Ferrous
C. | Superconductor D. | Liquid oxygen
o(lAattuiell ------ ueld sliunals 8.
34. | A | sl B. | ¥u
C. |l yurssse? D. | @GAs steSlosot
Which substance can be highly magnetised in the magnetic field ?
32. | A. | Paramagnetic B. | Ferromagnetic
C. | Diamagnetic D. | Ferrimagnetic
o(lActimill sl UELTR Yau(5a AAML Y5l A Hel YHIRHL Yoiseel UL
§2 8?
3. A
- | ARARARS $AN.Rs
C. | stauoaRs D. | 30aaRs
The magnetic field lines -----
33. | A. | never cut each other. B. | cut each other.
C. | cut at south pole and north ploe. | D. | depends on the place of magnet.
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Jou(sa A2 uA------ .

A | Asollena saa dedl ol Asollntal BE B.
33. .
C.le@al Yo ol Grr ya W | D | Yousotl 2aulet UR R B.
8t 8.
In a coil, if the rate of change of current is unit then induced emf depends on----
34. | A. | the self inductance of the coil. B. | the flux connected to the coil.
C. | width of the coil. D. | no. of turns of the coil.
ol llog Ycllgatl 351201l €2 As AsH A Al slScHl Geelad YR (Ao
UEAHS HO ------- WURA &
3%. .
A Q8 AL e QR0 UR B. | 8 WA sl se8uR
C. | a8cell atstes uR SIS call wiztoll vl uR
The magnetic field do not exert by------ .
35. | A. | magnet B. | static charge
C. | moving charge D. | current
Joulda AA------ gL Guet U otell.
3u. [ A | Jus B. | RAd [Qgd @
C. lalQniet @gd eur D. | Qe yaus
Material used for transformer core should have------ :
36. | A. | square hysteresis loop. B. | medium hysteresis loop.
C. | narrow hysteresis loop. D. | circular hysteresis loop.
2lot SRl S12 ARlY AURldAl UELdA-------8la B.
3. | A | AR RRRAU qu B. | MBax BRRAM ¢u
C. | uisd RRRRY qu D. [ adausiz RRRAM qu
Susceptibility ym Of ferromagnetic substance is ------
37. | A. | positive and very large B. | Zero
C. | negative D. | positive but very small
$ANARs ueldoll YA yp------ RUR)
39. [A | Ust AR ya Q8 B. 1 9o
S D. | ot wil yot atiell
Self inductance (L) and mutual inductance (M) of coil depends on ------
38. | A. | shape of coil B. | size of coil
C. | no. of turns of coil D. |alAB&C
SIS Aol WH QR0 WA oo YR0QL ------ AUR A B.
3¢. |[A | Sl8cAell AUSIR UR B. | ictell uefx u?
C. | sl8cteotl uialell dvaul uR D. | ABua C 28 uR
Vims =--=-----
39. |A [ Va2 B. [\2Vn
C. [2VnA2 D. [2V2Vn
Vims =--=-----
3¢. [A [ Vo2 B. [\2Vn
C. [2VnA2 D. [2V2Vq
40 The resistance of an electric Iron is 120Q. It works at 240V a.c. at 50Hz. The current

flowi

ing through it is

6/11




A

1.0A

B.

0.5A

C

2.0A

D

1.8A

As Sl oll WY 120Q B. A 240V WL Al 50Hz wUGAR s B.

wo. | aHiell uR adl yeus ----- 0.
A. | 1.0A B. | 0.5A
C. | 2.0A D. |18A
Which substance is a semiconductor?
41. | A. | Silicon B. | Aluminium
C. | Copper D. | Antimony
o(lActimiell s ueld utlcles & ?
¥a. |A | RSkt B. | AeyMan
C. ] slur D. | ARuo{l
In n-type semiconductor the majority charge carriers are-----
42. | A. | holes B. | electrons
C. | noneof A,B&D D. | both holes and electrons
N-UslRell AdalesHl Yot U 3RaR dAlE------ sl 8.
¥2. | A | 8l B. | sAsiloxt
C. | A B DHIYll As uaL o3, | D | Sl wal SAs3lodt o
As the temperature increases conductivity of a semiconductor------- :
43. | A. | decreases B. | remains constant
C. | increases D. |noneofAB& C
BH dAlUMlot dB A W alesoll clgsdl ------- 8.
¥3. | A w2 B. | a0 28
C. |lad D. | ABua ¢ uiell As ua «1(3.
Which impurity is added in a pure semiconductor to make p-type semiconductor?
44. | A. | Antimony B. | Arsenic
C. | Phosphorus D. | Gallium
p-USRall Atlalles olotlalall Sal YsiRell Wt AR ud?
¥Y. AR Mol B. | d@s
C. | Slegon D. | a@an
In reverse bias condition resistance of p-n junction diode will be-------- :
45. | A. | zero B. |less
C. | infinite D. | high
p-n %'52letl SLASHL Il ollat SR AR ------ sl 8.
¥ | A | e B. | 26
C. | sl D | ay
In a bridge rectifier------- p-n junction diodes are used.
46. | A. | four B. |two
C. | three D. |one
oflos 2s(@gl2AUL ------- sialls 8l B.
¥s. | A | uR B la
47. | The width of the depletion layer in a forward bias condition of p-n junction diode -----




changes frequently

B.

remains constant

A.
C decreases

D.

increases

p-n %52at SLASe{l $lRad sl RAAHI

31A2Uet R0l S SLES------ .

¥9. ARk UEA B. | ¢ 28
Co a2 Dl
In a p-n-p transistor , the collector of transistor is composed by ------ :
48. | A. | p-type material B. | n-type material
C. | noneof A, BandD D. | both n-type and p-type
p-n-p 2ledfleUl sAseR------- ol Halcll sl B.
¥C. p-UslRell tlcles B. | n-usirell uticuss
C. | A B wa D uiell 818 3. D. | ol n ua p ystell wdaiesl
Which consists of high impurities among base, emitter and collector of the transistor?
49. | A. | base B. | emitter
C. | collector D. | none of these three
2lodfleRatl A%, AMeR U sAse Hiell AHL WY duR sl B2
¥e. | A | An B. | Afe=
C. | s@se? Do | 2 Aeuiell As uel o3
The unit of transconductance is------ :
50. | A. | Ohm B. | Ohm/m
C. | Mho/m D. | Mho
2lod5Ss2otoll ASH ------ 0.
wo. | A | Q8 B. | s/l
C. lél/lﬂ_ D. 1&1
If the emitter is common between input and output of the transistor then the circuit is
51 called----------- .
" | A. | CC-circuit B. | CB-circuit
C. | CE-circuit D. | BC-circuit
2lodfleReall Potye Wal UBaye A AMeR slHat dlal Al Adl Hsleel------
58 0.
yA. A B
- | cec-uRua - | cB-uRua
C. | cE- uRua D. | Bc-uRua
Pentavalent impurity produces-------- semiconductor.
52. | A | p-type B. | n-type
C. | pand n both type D. | pure (intrinsic) type
WozAAo2 AR GRReUl------ wdalss wal 8.
uX. p-Usloll B. | n-usizall
C. | p el n oid ysiretl D. | gra(Sozixlls) ustrell
lnm=--------- m
53. |A. [10° B. |10°
C. |10° D. |10°
lnm=--------- m
u3. [A. [10° B. |10°
C. |10° D. |10°

8/11




Fullerene consist of -------- carbon atoms.

54. | A. |100 B. |50
C. |75 D. |60
$ct3lol ---- slolot URHIQeNl calcll Sl B.
“¥. A 1100 B. [50
C. |75 D. |60
MWNT means------ .
55 A | nano tube having single cylinder | B. | nano tube having different diameters.
- | C. | concentric nano tube having D. | nano tube having different cylinders
different diameters.
MWNT #A2@-------
Al As o slousk tRadl Aol | B | el el el trkadl Aell eyot
uy. ol
C. | ayel ael caldt urladl D. | orel agel stousiz uradl Aol 2ot
UHZA Aol Syut
The SA/V ratio for nano substance is --------.
56. | A. | very high B. | verylow
C. |zero D. | infinite
Aol UL HIZ2 SAV IJRNR------ ala &.
us. wol R B. | ol 206
9ol D. | el
The method to prepare nano particle is-------- .
57. | A. | Ball-mill technique B. | Sol-gel technique
C. | Electro deposition technique D. | All these three techniques
Aoll 50U oletletello(l Wit ------- 8.
wo. | A | dlet-Mlet ulrd B. | let-Bet Utk
C. | sasl oflatet uEEd D. | et AQL uleeA
The propagation of sound is due to ------
58. | A. | compression only B. | compression and rarefaction
C. | rarefaction only D. crest and trough
telfolo] YURWQL -------- aA B.
ue. | AL ddtet siRL B. | 2tiotot ol (Qustol ciRd glRL
C. 1ot [Qetstet gi2t D. | sjot aal ot st
The velocity of sound waves is maximum in ----- .
59. | A | liquid B. |gas
C. | solid D. | vacuum
telAoll AoL------ Ui HedH 8l B.
ue. | A [yadl B | ey
C. | et D. | gcuasial
The formula that shows the relation between velocity, frequency and wavelength of
60 sound i -------
" A | V=nA B. | VA=n
C. | Vn=\ D. | V=ni
50. | tleletl Ao, AlG(Q WA ARIANAGUE ARl Aoit e2lclq YoA----8,
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A. | V=nA

B.

VA=n

C Vn=A

D

VZ=n)

The sound produced by tuning fork has freque

the wavelength of sound wave is --------

ncy 480Hz and velocity 330m/s, then

6l A To0.6875m B. [6.875m
C. ]0.06875m D. |68.75m
As el Ml gl Beudt AUdl el dRolell wig(d 48082 a AdL
330HlA gl Al el dRolell ARt AwlleS ------- L,
Sq.
A | 0.687541 B. | 6.8754
C. | 0.0687541 D. | 68.75
In which phenomenon the white light converts into its seven constituent colours?
62. | A. | Refraction B. | Dispersion
C. | Reflection D. | Interference
58 UollHl Usl2le] Aol HNed Alct ML 3UIAR A B?
s2. | A | aslecet B. | [@Qdedt
C. | wrladet D | culdsRu
Total internal reflection of light happens only when --------
A. | incident angle is less than critical | B. | incident angle is equal is critical angle
63. angle
C. | incident angle is greater than D | incident angle and angle of refraction
critical angle are equal
Uslale] Yol wic(Rs unddel R % Al wAR-------
Al auid Slal A siAsia sl | B | auutd Sl A1 silAsial #ue dlal.
S3. allell &laL.
C.olaud slat A silQsa sact | D | auutet 5ot ¢ aslejd Sl vl
Hl2l elal. sl
As the refractive index of medium is high then the velocity of light in that medium ----.
64. | A. | increases B. | becomes zero
C. | decreases D. | remains constant
ol HitAHall dgletcatis dtlR sl dl A HIAHHL Yslalell AoL------
s¥. | A | adl. 9ol UL,
C. e, D. | wun 22.
The superposition of light is called ----.
65. | A. | Interference B. | Polarization
C. | Diffraction D. | Refraction
yslalell duldls0a------ 53 ®.
su. | A | caldsqal yclletclot
C. | Q@adet D. | asgletatet
Laser radiation is----.
66. | A. | Unidirectional B. | Coherent and stimulated
C. | Monochromatic D. | All these three are correct
QAUR] ARN------- sl 8.
S6. .
A AslE R B. | Yl A Gt
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C. |Aas2ol D. | s 282 i B.
Among these four which is not related to the types of laser?
67. | A. | Solid laser B. | Gas laser
C. | Liquid laser D. | Plasma laser
o(lAotl URMIY 53 AURelL YsR A Asnudd «l?
s9. | A | Ut AR B. | aly QR
Clyadl aQu D. | et QuR
In He-Ne laser the ratio of He-Ne is ---.
68. | A. | 1:10 B. |10:1
C. |11 D. |1:20
He-Ne QUL He-Ne of UHIQl-----8lA B.
SC. A 110 B. [10:1
C. |11 D. |1:20
Optical fibre works on the principle of ------ .
69. | A. | Reflection B. | Refraction
C. | Total internal reflection D. | Double refraction
AURsAH SIEHR ------- oll Rtuict U st 52 B.
se. | A | urtadet asleclot
C. | ydl uidRs urladat D. | sotet asletcot
In a multimode fibre ------- .
A. | more than one light radiation B. | single light radiation propagates
70. propagates through the fibre through the fibre
C. | light radiation do not propagates | D. | none of all these three
through the fibre
@S slSuHiel------
A | As sdll dy Yslalell d29llef | B | A5 o yslalell ddle] YR ARl
90. YJR0L AlA 8. 0.
C.lustatell d2ole] yareL ad | D | aQa wiell As ugl (3.
ol
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